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Abstract

To perform R&D program, it is necessary to invest input factors(I/F). And
these factor are converted to output factors(O/F) at the end of R&D program.
Peer reviewers evaluate output factors and produce evaluation grades(E/G). This
paper try to analyze the relationship to I/F, O/F and E/G. According to the
analysis results, the relation between I/F and E/G is as weak as the relation
between O/F and E/G. The strength of relationship is relatively very strong in
the relation between I/F and O/F.
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1) 78 T8} Hrids B

Model B Std. Error| Beta t(P) F(P) R?
04
o (Constant) | 83.866 1.048. ?0030? 5 520
- : : .049
ol {H 34 .021
| U Eolz4d| | 6.879E~06 .000 222 (203219) (.021)
98.213
oe (Constant) 83.397 .849 (_000) 14 721 o
ol .837 '
el Q0| 4H| | 5.625E-05 .000 .349 (308030) (.000)
106.369
(Constant) 84.421 .794 8%006) 7.062
Ay 2.658 00) | 0%
E| o] 5.704E-06 .000 .250 (609) (.000)
81.207
Aar | (Constant) | 83.909 1.033 (000) | 5506 | .o
o 8 _ 34 '
HOE | yamoig | 306 169 222 &203216) (.021)
144.560
ol H A {Constant) 87.175 603 (.000) 15.086 125
%l g i -3.884 '
HUE omamoig| -3.650 940 | -.353 (3083) (.000)
(2 AA TPt} Brrygsy #A
Model B Std. Error] Beta t(P) F(P) R?
144.560
(Constant) | 87.175 .603 (0.000) 15 086
] . ) 125
a| A A 3 650 940 353 -3.884 | (0.000)
XHoig ) ' ' (0.000)
102.225
(Constant) | 84.535 .827 (0.000)
o| Al Ak ' —-4.369 18.162
-3.804 871 -.368 .
2 2ol 8 (0.000) | (0.000) 257
AT 5.867E-05 000 364 4.326
ydpal:l ' i ) (0.000)
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Model B Std. Error| Beta t(P) F(P) R?
3.467
: 1.997
e (Constant) 6.925 99 (001) |25969 | o
2E<Ll NP A 44 5.006 | (.000) | -
$oi74d] | 2.844E-05 | .000 . (.000)
o | {Constant) 7.207 1.568 (4'050609) 46.237
Cl : : 304
ol 74| . .0 '
simelziel | 1.8416-04 | 000 | st | Coe0 | (000
7.294
(Constant) 11.847 1.624 (.000) 10.069
HEH 3173 (602) 087
|| 1.394E-05 .000 295 ( '002) '
3.542
%108 _ 2 : '
=l Aastoig | 1.665 1320 451 (500002) (000}
11.718
oA A (Constant) 15.662 1.337 (.000) 000 000
X048 ) - .984) | -
= |o|AArEtol 8 |-4.006E-02| 2.083 ~.002 (908240) (.984)
(2) AA) FH8L9 NHEE BFSY TA)
Model B Std. Error| Beta t(P) F(P) R?
(Constant) | 7.207 1.568 4599
1 onstan . . (0.000) | 46.237 304
QB olZAH] |1.841E-04] .000 551 0.800 ) (0.000) |
TeeEht ' ' (.000)
(Constant) | 2.658 1.879 4t
onstan . . (0_160)
2 | elgelzn| |1.523E-04] .000 456 5701 | 99809 392
TeeEh ' ' (0.000) | (0.000) '
AlALEO{ ] 1.150 295 311 3.896
= ' ' ' (0.000)
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Model B Std. Error| Beta t(P) F(P) R?
144.955
(Constant) 86.155 .594 ( 00905) 661
i 2 .
zzay 55 (a1 | 0
oz -.307 .378 -.079 (.418)
.97
(Constant) 85.534 .567 150.975

(.000) 6.210

=3 .055
i 492
=5 1.766 709 235 (2;194) (.014)
(Constant) 83.914 .831 1?%'0903)1 10.323
=5 5213 002) .089
=2 176 055 298 Co02) (.
(2) AA &4 HrrAFee B
Model B Std. Error| Beta t(P) F(P) R?
1 (Constant) 83.914 .831 1?%503)1 10.323
: ‘ .089
o 3.213 (.002)
= 176 .055 298 (002)
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Model B Std. Error| Beta t(P) F(P) R
© ’ 82.767
onstant) 83.209 .005 (0.000) 10.459 -
oA A | SHTH | 3.338E-06 | .000 .300 3234 ) (0.002) |
= (0.002)
=% 81.292
( {Constant) 88.998 1.033
Eo|2y) (0.000)
_ ) 3.724 8.499
YIHEs)| &3] | 8.003E-06 .000 718 139
N (0.000) | (0.000)
~2.458
Zxtojol - 341 ~.474
&30 838 3 (0.016)
A B 3.428
solgn) [ B 5520 | (.000) | °
A C 94 .866
(B (Constant) 83.955 .885 (.000) 8 194 072
AEEL | L xe 2.863 (.005) ’
T EMESZ 129 .045 .268 (.005)
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(1) 288A 4 24

S 7| HE0{ely BEMEE HIME =

£ 7y| 1.000

Ex0ioiy 0.883"" 1.000

SNMEE 0.473" 0.447" 1.000

YIS 0.300™ 0.160 0.268"" 1.000
¥ xx= p<0.010AM SAMHCZ Roojgts FA(ZEHEY)
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A(R? = 0.090, r = 0.300)
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